AuAu - 2007Production2(number of events processed, 54603)
Trigger Specified(Trigger ID : 200001, 200003, 200013)
Based on the analysis on 15th June 2009, ( click here to see it ) I used the following cut:

1. SiliconHits>0,NTotPr<100,|angle|<0.6,pT>0.3,|eta|<1.85,|nSigma|<2.0
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Here we see that when we use the specific trigger IDs the S/N increases from the value we got earlier(3.18) with the same cuts ran over the same data files. 
2. Using decay length values from Global Track Branches(using StPhysicalHelix)
(Other cuts on this plot:siliconHits>0,NTotPr<100,|angle|<0.6,pT>0.3,|eta|<1.85,|nSigma|<2.0)
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It is difficult to see a correlation on these plots. 

3. Decay length using StDcaGeometry with StPhysicalHelix
(Other cuts on this plot:siliconHits>0,NTotPr<100,|angle|<0.6,pT>0.3,|eta|<1.85,|nSigma|<2.0)
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4. Using THelix
[image: image7.png]h21

Entries 2073485
Meanx 147
Meany 0.4034
RMSx 04623
RMSy _ 0.5089

=T

10

10




Cutting on decayXYV(decay length calculation using THelix) doesn’t  improve the signal – but actually reduces the S/N! 

We have an improved S/N with trigger specification. 

Data sample: 2007 Production2, P08ic( files on NFS)

Root file: ~jai2006/jaiby/trigMuKpi/MuKpi_fileList.root
Macro: ~jai2006/jaiby/helix/MuKpi_fileList.C
The D0 signal is very sensitive to the cuts click here to see a different set of cuts producing S/N~3.5
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